

$$f: X \rightarrow Y, A, B \subset X, C, D \subset Y$$

$$A \cap B = \{x \in A; x \in B\} = \{x; x \in A \wedge x \in B\}$$

$$A \cup B = \{x; x \in A \vee x \in B\}$$

$$f(A) = \{y; \exists x \in A: y = f(x)\}$$

$$f^{-1}(C) = \{x; f(x) \in C\}$$

$$X \setminus A = \{x; x \in X \wedge x \notin A\}$$

$$\text{Theorem: } f^{-1}(Y \setminus C) = X \setminus f^{-1}(C)$$

$$\text{DE: "c" Fix } x \in f^{-1}(Y \setminus C) \Rightarrow f(x) \in Y \setminus C \Rightarrow f(x) \in Y \wedge f(x) \notin C \\ \Rightarrow x \in X \wedge x \notin f^{-1}(C) \Rightarrow x \in X \setminus f^{-1}(C)$$

$$\text{">" Fix } x \in X \setminus f^{-1}(C) \Rightarrow x \notin f^{-1}(C) \Rightarrow f(x) \notin C \\ \text{non'c value, } \exists f(x) \in Y \text{ a } \text{to-} f(x) \in Y \setminus C \\ \Rightarrow x \in f^{-1}(Y \setminus C) \quad \perp$$

$$\text{Proposition: } f(x) \notin C \Leftrightarrow x \notin f^{-1}(C)$$

$$\text{DE: John' s o abm' em Theorem } f(x) \in C \Leftrightarrow x \in f^{-1}(C), \text{ c' } \\ \text{is def. } f^{-1}(C) \perp$$

$$\text{Theorem: } X \setminus (A \cup B) = (X \setminus A) \cap (X \setminus B)$$

$$\text{DE: "c" } x \in X \setminus (A \cup B) \Rightarrow x \in X \wedge x \notin (A \cup B) \Rightarrow x \in X \wedge \neg(x \in A \cup B) \\ \Rightarrow x \in X \wedge \neg(x \in A \vee x \in B) \Rightarrow x \in X \wedge x \notin A \wedge x \notin B \\ \Rightarrow x \in X \setminus A \wedge x \in X \setminus B \Rightarrow x \in (X \setminus A) \cap (X \setminus B)$$

$$\text{">" } x \in (X \setminus A) \cap (X \setminus B) \Rightarrow x \in X \setminus A \wedge x \in X \setminus B$$

$$\Rightarrow x \in X \wedge x \notin A \wedge x \notin B \text{ and -n' } f(x) \in C \text{ simply ab'm' h' } \perp$$